1. x%y—2xy+3x? & AFEole A2?

@xy(x+3y—2) @ (x=y)(x+3y)
® (2x-y)(x—3y) @ xy(x—3y-2)
© (x-y)(x-2y)

x%y = 2xy 4 3xy® = xy(x + 3y - 2)




D 9 @ 2x+3 ® x+3
@)2x-3 ® 2(x-3)
(x=2)(x+3)—-4(x+3)=(x+3)(x—2-4)

= (x+3)(x—6)
So(x4+3)+(x-6)=2x-3
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(x+lxy—1xx+;

® x*(y-1)

@ (x
@»E+nu—w@—n
)(x+1)(x-1)(y-1)




4.  a(2a-b) - (b-2a) Z AFE5H?

® (a—-1)(2a-b) @ (a-1)(2a+b)
® (a+1)(2a+b) @) (a+1)2a-b)
® a(2a-b)

a(2a —b) — (b—2a) = a(2a—-b) + (2a - b)
=(2a-b)(a+1)




@ x+1 @a+1

® x+a

@ x-a

a

‘ x(a®-1)

x(a+1)(a-1)




6.  3x(x-2y)-x+2y 5 APt ALY

@ @3x-1)(x-2) @ (3x+1)(x+2y)
® (3x-2y)(x+y) @ (3x-2y)(x-1)

® (Bx+2y)(x—1)

3x(x—2y) —x+ 2y = 3x(x —2y) — (x— 2y)
= (x-2y)3x-1)




T (x45)°-2x+5) T A5EahstA?

@ (x+3)(x=5) @ (x-3)(x+5) ® (x-6)(x+3)
@+3)(x+5)  © (x-6)(x+5)

(F)=(x+5)(x+5-2) = (x+5)(x+3)




8.  (x+4)2-3(x+4) & A5EalstH?

O (x+4)(x-1) @ (x-4)(x+1) ® (x=7)(x+4)
@+9x+1) O x-TE+1)

(x+4)2-3(x+4) = (x+4)(x+4-3)
— (x4 4)(x+ 1)




® x-3

@ x+3

® x(x-3)

@+

= x(x+3)(x—-3)

x(x? - 32)

x3 — Ox




X 42 - 9x -9 5 AR Y
(x+a)(x+b)(x+c) 7t =AUt oW a + b + ¢ O] FF2?

x(x2-9)+(x*-9) = (x2-9)(x+ 1
=x+3)(x=3)(x+1)
Ot a=3,b=-3,c=1°22

a+b+c=10°]|c}.
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Q@ xy © x+y © x+2y
® 2x+3y @ x(x+2y) ® y(x+y)
ONGNC) )0, ®, @ ® 06,0 6
ONCRENG) ® 6,66

xy(2x + 3y) — xy(x +y) = xp{(2x + 3y) = (x + )}

= xy(x + 2y)




12, x%y—y-—2+2x2 o] A7} ofd AL29

® x-1 @ x+1
@y-2 © y+2

~&B

(FA) =xy+2x%2-y-2
=x*(y+2)-(r+2)
2

-1y +2)
=@+ )x-1r+2)




@ (a+b)(m+ n)(m-n)
® (a=b)(m+n)?
® (a-b)(m—n)?

@) (ab)(m+n)(m—n)
@ (a-b)(m? +n?)

(a=b)m?>+ (b—a)n® = (a—
:(g—

b)(m? = n?)
b)(m + n)(m —n)




